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You may use a scientific calculator that does not have programming or
graphing capabilities.

You may NOT borrow a calculator from anyone.

You may NOT use notes or any textbook.

There should be NO talking during the examination.

If your mobile phone is seen or heard, your exam will be taken
immediately.

You must show all your work beside the problem. Be organized.

. This examination has 8 questions plus a Bonus question.

Make sure your paper has all these problems.



Caleulus 11 (Math 113), Final Exam- Spring( 102).
1. [10Pts) Determine dy,/dz
T I S}t
' {t-];;.-:“’*T and evaluate it
at 7= w2

(a) p = (sinx + 1)
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2. [(Hpis) Stody the convergence of the following iIIt.Egl’B]f Wdz

3. (30pts) Evaluate the following inteprals using the method of your choice '
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dr. [Hint. one may sot ¢ = tan(z/2)|.

4. [1hpis) Evaluate each limit
(a) Ii.1r]1r zn?(z)

(b) lim (1_3) .
& f=m T

(e} Find the error in the limit computation
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and find the correct limit.

5. [llpts) Setup the integral(s) giving the total area of the region beot-
woen the graphs y = #° — 4 and y = 2 + = over the interval [1, 4].
6. [10pts) Setup the integral giving the volume of the solid penerated by
revolving the region bounded by y =0, 9=/ — 3, =T about

(a) the line # = —1 by the Washers method,
(b} the line y = 3 by the Cylindrical shell’s method.

T. [1lpts) Solve the following differential equation
my —y=x", pl)=-1

=1,
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8. [1lptz) Apply Simpson's rule. to approodmates F 17 5 dr 1sing a
[
ragular partition with n = 4.

9. (Bonus - 4pts) : Evaluate :Jrr{i +2r)e dr, frdf:?l-u -

1. ecos(2r) = Zow¥(r) — 1 =1 — Psin?(x], sin(2r) = Psin{r)eos{z).



